Essem
Design

Clothing House
Héing dina kléder i sitt eget lilla hus. Ett kladstall i pulverlackerade stélrér. B*L*H =
470*1040* 147 5mm.

Innehall:
1 galgrér + 2 stativ + 2 skruv M10*25 + 2 plastplugg + 1 bottenplatta + 4 hjul (2 med broms och

2 utan broms) + 4 skruv M8*50

Monteringsanvisning: (se &ven bild nedan)

1. Testa géngorna med respektive skruv innan montering for léittare montering.

2. Montera galgréret pa stativen med medfsljande 2 skruv M10*25 och téick skruvhuvudena
med plastplugg. Justera galgréret s& det blir centrerat. Montera sedan kladstéllet
liggandes ned.

3. Montera fast hjul, botten och stativ med medféljande 4 skruv M8*50.

Clothing House
Hang your clothes in their own little house. A clothes rack made of powder coated steel tubes.

D*W*H = 470*1040*1475mm.

Contents:
1 clothes rack + 2 stands + 2 screws M10*25 + 2 plastic plugs + 1 bottom square + 4 wheels (2
with breaks and 2 without breaks) + 4 screws M8*50.

Assembly instruction: (see also picture below)
1. For easier mounting test the threads with correct screw before mounting.
2. Mount the clothes rack to the stands with enclosed 2 screws M10*25 and cover the screws
with the plastic plugs. Assembly the clothes rack lying down.
3. Mount the wheels, bottom square, and stands with enclosed 4 screws M8*50

+46(0) 371 19410
info@essem.se
Www.essem.se


mailto:info@essem.se

